= BARRACUDA

ASSEMBLING INSTRUCTIONS KIT
X1. WINDSCREEN
X1. LEFT/RIGHT BRACKET KIT
X4. M6X14
X4. TEFLON WASHER 05
WINDSCREEN KIT X4. RUBBER WASHER

X4. LARGE WASHER 05

BENELLI LEONCINO X4. SELF-BLOCKING NUT 05
X4. M5X14

BL5300

WWW._BARRACUDAMOTO.COM

ASSEMBLING PROCEDURE:
1. MOUNT THE SPECIFIC BRACKETS USING THE SUPPLIED M6X14, AS ILLUSTRATED. (DO NOT TIGHTEN).

2. ASSEMBLE THE WINDSCREEN TO THE SPECIFIC BRACKETS USING THE SUPPLIED BOLTS, AS SHOWN.
(DO NOT TIGHTEN).

3. TIGHTEN EVERYTHING ONLY WHEN THE CORRECT ASSEMBLING PROCEDURE IS DONE.S

~

T
N

' L \7‘
( SELF-BLOCKING
/o/ NUT
— LARGE
WASHER
| RUBBER
‘ WASHER
\
| Y,
TEFLON
M5X14 WASHER




